# Probabilistic Graphical Models

# Lectures 12

Introduction to Inference Variable Elimination



Representation:
 (Y|X)

#### Ρθ(Χ), Ρθ(Χ,Υ), Ρθ



- Representation:  $P_{\theta}(X), P_{\theta}(X,Y), P_{\theta}(Y|X)$
- Inference  $(\Theta \text{ know } X = \sqrt{X = \sqrt{X = 7}})$



**Representation:** igodol

#### $P_{\theta}(X), P_{\theta}(X,Y), P_{\theta}(Y|X)$

Inference ( $\Theta$  known)  $\begin{array}{c} X_{1} \\ X_{2} \\ Z_{2} \\ Z$ 



• Representation:  $P_{\theta}(X), P_{\theta}(X,Y), P_{\theta}(Y|X)$ 

• Inference (θ know

$$X_{e} = \{X_{1}, X_{4}, X_{g}\} = V$$
  
 $X_{f} = \{X_{3}, X_{5}, X_{7}\} = ?$ 

Sampling (θ known) P<sub>θ</sub>(X) ---> generate data X<sup>1</sup>,
 X<sup>2</sup>, ..., X<sup>m</sup>



- Representation:  $P_{\theta}(X), P_{\theta}(X,Y), P_{\theta}(Y|X)$ 
  - Inference (θ know)

$$\begin{array}{cccc} X_{e} & X_{e} = \{X_{1}, X_{4}, X_{8}\} = V \\ & & \\$$

Sampling (Θ known) P<sub>θ</sub>(X) ---> generate data X<sup>1</sup>,
 X<sup>2</sup>, ..., X<sup>m</sup>

Learning (θ unknown) data X<sup>1</sup>, X<sup>2</sup>, ..., X<sup>m</sup> find θ, find 6
 structure

#### Inference



Given P(X<sub>1</sub>, X<sub>2</sub>, ..., X<sub>N</sub>) find target variables given observed variables.

#### Inference



Inference 
$$P(X) = P(X_1, X_2, ..., X_n) = P(X_e, X_t, X_0)$$
  
 $X_e \subseteq X$  (evidence, observation, input) known  
 $X_t \subseteq X$  (target, output) unknown  
 $X_t \subseteq X$  (target, output) unknown  
 $X_0 = X \setminus (X_e \cup X_t)$  (other variables) we don't care  
about them  
[in many cares  $X_0 = \{\} \Rightarrow X = X_e \cup X_t$ ]  
given  $X_e$  find  $X_t$ 

# Example



Example  

$$P(X_1, X_2, X_3, X_4, X_5) = \sqrt{15}$$
  
 $X_t = \{X_1, X_3\}$  given  $X_2, X_5$  find  $X_1, X_3$   
 $X_e = \{X_2, X_5\}$   
 $X_o = X_4$ 

# Example



Example: X input  
Y output  
P(X,Y) Xe=X Given X find Y  
or  
P(Y|X) 
$$X_t = Y$$

# Example



#### Inference

 $X = (X_t, X_e, X_o)$ O Xt Xeo Xe=V



# Simple Case



Simple Case : Xe = {} X = X+, Xo  $P(X) = P(X_{\pm}, X_{o})$  $P(X_t) = \sum_{X_0} P(X) = \sum_{X_0} P(X_t, X_0)$ 6 number of summation terms grows exponentially with the size of Xo. no. of variables in Xo

# Simple Case



Eample: 
$$X_0 = \{X_{0,1}, X_{0,2}, \dots, X_{0,m}\}$$
  $X_{0,m}$   $X_{0,n}$   $X_{0,n}$ 

## General Case





$$P(X) = P(X_{t}, X_{o})$$

$$P(X_{t}) = \sum_{X_{o}} P(X) \implies might be introctable$$

$$\implies Use the fact that for the PGMs$$

$$(BN/MRF/CRF) the joint distribution is$$
in the form of product of factors
$$P(X) = \prod_{c} \Phi_{c}(X_{c}) \qquad X_{c} \text{ comprises a}$$

$$small no. of variable$$



$$(A \to B \to C \to D \to E)$$

$$P(A,B,C,D,E) \Rightarrow find P(E)$$

$$X_{e} = \{3, X_{o} = \{A,B,C,P\}, X_{t} = \{E\}$$

$$P(E) = \sum \sum \sum P(A,B,C,D,E)$$

$$A \to C D$$

$$2^{4} = [6, summation terms if A,B,C,D \in \{0,1\}$$



$$\sum_{D \in B} \sum_{A} \varphi_{0}(A) \varphi(A,B) \varphi_{1}(B,C) \varphi_{1}(C,D) \varphi_{4}(D,E)$$

$$\sum_{D \in B} \sum_{A} \varphi_{0}(A) \varphi(A,B) \varphi_{1}(B,C) \varphi_{1}(B,C) \varphi_{2}(B,C) \varphi_{3}(C,D) \varphi_{4}(D,E) \sum_{A} \varphi_{0}(A) \varphi_{1}(A,B) ,$$



K. N. Toosi University of Technology

 $\Phi_2(B,C) \Phi_3(C,D) \Phi_4(P,E) \sum_{A} \Phi_{B}(A) \Phi_{A}(A,B)$ ZZZ DCB

4, (A,B € (A  $\Phi_0(A=0)$ B=1 0.2 ¢ (A=1) 0.3 0.7 0.8 A = 0 0.5 0.5 A = 1



K. N. Toosi University of Technology

 $\Phi_2(B,C) \Phi_3(C,D) \Phi_4(P,E) \sum_{A} \Phi_0(A) \Phi_1(A,B)$ 222 DCB





 $\Sigma \Sigma \Sigma = \Phi_2(B, C) \Phi_3(C, D) \Phi_4(D, E) \Sigma \Phi_6(A) \Phi_7(A, B)$ DCB

 $C_{1}(B) = \sum_{A} \Psi_{1}(A,B) = \Psi_{1}(0,B) + \Psi_{1}(1,B)$ B=0 A=0 0.14 0.06 . 4, (A,B) 0.4 0.4 A=1 JK+ 0.46 0.54 2,(B) B=



 $\Sigma \Sigma \Sigma = \Phi_2(B,C) \Phi_3(C,D) \Phi_4(D,E) \Sigma \Psi_1(A,B)$  $\Sigma \Sigma \Sigma = \Phi_2(B, c) \Phi_3(C, D) \Phi_4(D, E) \mathcal{Z}_1(B)$  $\sum_{p \in \mathcal{P}} \mathcal{E} \varphi_3(c, p) \varphi_4(p, E) \sum_{p \in \mathcal{P}} \varphi_2(B, c) \mathcal{I}(B)$ 42 (B,C)  $\Sigma_{p}\Sigma_{c} \phi_{3}((C, D) \phi_{4}(P, E) T_{2}(C)$  $\Sigma_{p} \phi_{4}(D, E) \Sigma_{p} \phi_{3}(C, P) \zeta_{2}(C)$ 



 $\sum \Phi_{4}(P, E) C_{3}(P) = C_{4}(P) = P(D)$ 43(P,E) Variable Elimination



Variable Elimination (A,B)  $(\oplus,C)$   $(\oplus,C)$   $(\oplus,D)$   $(\oplus,E)$ -take out to(A) \$ (A,B) Eliminate A E W(A, B) - replace 7(B) (B) (B, C) (C, D) (D, E)



(B,C) (C,D) (D,E)Eliminate B B,c)  $(c) \phi_3(c, D) \phi_4(D, E)$ 22







Eliminate D  $\sum_{i=1}^{n} f_{i}^{i}(0,E) = C_{4}(E) = P(E) = V$ 

# Variable Elimination - Unnormalized

$$P(A,B,C,D) = \frac{1}{2} \quad A,B) \quad \varphi_{2}(B,C) \quad \varphi_{3}(C,D)$$

$$= \frac{1}{2} \quad P(A,B,C,D)$$

$$Z = \sum_{A} \sum_{B \in D} \sum_{P} (A,B,C,D)$$

$$Eliminate \quad A \quad P(B,C,P) = \sum_{A} P(A,B,C,D)$$

$$= \frac{1}{2} \sum_{A} \widehat{P}(A,B,C,D)$$

$$= \frac{1}{2} \sum_{P} \widehat{P}(A,B,C,D)$$

$$= \frac{1}{2} \sum_{P} \widehat{P}(B,C,D) \quad VE$$

$$= \frac{1}{2} \sum_{Q} \widehat{P}(B,C,D) \quad VE$$

$$= \frac{1}{2} \sum_{Q} \widehat{P}(B,C,D) \quad VE$$



# Variable Elimination - Unnormalized



 $= \frac{1}{2} \widetilde{P}(B, C, D)$ 2 remains  $= \frac{1}{Z} \zeta(B) \phi_2(B,c) \phi_3(c,D)$ the same  $P(C,D) = \frac{1}{2} \quad \chi_2(c) \quad \varphi_3(c,D) = \frac{1}{2} \tilde{P}(c,D)$ eliminate B liminate D  $P(D) = \frac{1}{2} \frac{1}{C_3(D)} = \frac{1}{2} \overline{F(D)}$ eliminate D  $I = \sum_{D} P(D) = \frac{1}{2} \sum_{D} \zeta_{3}(D) \Rightarrow \sum_{D} \zeta_{3}(D) = Z$ 

# Variable Elimination - Unnormalized

5 23(P)  $= \Sigma \subset \overline{C_2(C)} \varphi(C,D)$ =  $\sum \sum \sum (B) + (B) + (B, C) + (C, P)$ =  $\Sigma \Sigma \Sigma \overline{\Sigma} \overline{\Phi}_{1}(A,B) \Phi_{2}(B,C) \Phi_{3}(C,D)$ D C B A  $\tilde{P}(A,B,C,D) = 2$ A, B, C, D



# Variable Elimination - with evidence



 $P(X) = P(X_e, X_t, X_o) = \pm T + (X_c)$  $\overline{P(X_t, X_e, X_o)}$ known Xe=Xe  $\frac{\sum_{x_o} P(X_t, x_e, X_o)}{\sum_{x_t} \sum_{x_o} P(X_t, x_e, X_o)} = \frac{\sum_{x_o} \widetilde{P}(X_t, x_e, X_o)}{\sum_{x_t} \sum_{x_o} \widetilde{P}(X_t, x_e, X_o)}$  $P(X_{t} | X_{e} = x_{e}) =$ 

# Variable Elimination - with evidence

replace 
$$X_e = X_e$$
  $\widetilde{P}(X_t, X_e, X_b)$   
 $\downarrow Variable Elimination$   
 $\widetilde{P}(X_t, X_e)$   
 $\downarrow venormelize over X_t$   
 $P(X_t | X_e = X_e) = \widetilde{P}(X_t, X_b)$   
 $\overbrace{X_t} \widetilde{P}(X_t, X_b)$ 



#### Elimination order





# Elimination order

eliminate Yi-s first eliminate Y,  $P(\chi, Z, Y_2, Y_3, ..., Y_m) = \frac{1}{2} \sum_{Y_1} \prod_{i=1}^{m} \Psi_i(Z, Y_i) \prod_{i=1}^{m} \Phi_i(\chi, Y_i)$  $= \frac{1}{2} \prod_{i=2}^{n} \Psi_{i}(z,Y_{i}) \prod_{i=2}^{n} \varphi_{i}(x,Y_{i}) \sum_{Y_{i}} \Psi(z,Y_{i}) \varphi(x,Y_{i})$  $\sum_{\mathbf{Y}_{1}} \delta(\mathbf{X},\mathbf{Z},\mathbf{Y}_{1})$ 2.(X.Z) eliminate X Z T, (X, 2) T, (X, 2) ... T, (X, 2)
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
 X
  $\sum_{x} S_{n+1}(X,z)$ 

